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1. Select the correct answer from the following :
1x5=5

fa) In the ground state, HOMO of 1,3-
butadiene is symmetric with respect to

(i) mirror plane (m)

(i) C,-axis

(iij) both mirror plane and C,-axis
{iv) None of the above
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(2) (3)

(b) Epimeric carbohydrates differ through UNIT—I
thei
) i s 2. (a) Draw the molecular orbitals  of
() Tunctiopal group | 3-butadiene and indicate which is
(i) ring size HOMO and LUMO in the ground state. 2
(I.H) configuration at a-C atom (b) Complete the following reaction and
(iv) None of the above suggest the mechanism : 2
OCH,CH=CH,
() In the double helix of DNA, guanine of
one coil involves pairing with cytosine of e
the other through o
(i) one H bond ' ‘ _ :
i e Ml S
lll th er con
( . ) three H bonds motion will take place under the
(iv) Not through H-bond mentioned  condition  against the
compound :
({d) Chlo : :
(i) ;amihefllcm Is an example of CHg
ro —
i ad spectrum antibjotic = hv -
Narrow spectrum antibiotic S :
(i) polypeptide
(iv) lincomyecin (c) With the help of FMO approach, show
that [4+2] cycloaddition is thermally
(€) The nature of the —OH _ allowed but photochemically forbidden.
a-terpineol is group in the 1Ya+1%=3
(i) prim al
N “ e coRgl UNIT—II
(ii) secondary alcoho]
(ii) tetidry ol o 3. (a) Draw the conformational structure of
(i) aryl alcohg] B-D-glucopyranose. 1
Convert D-glucose into D-
Sbyass r (b) g o D-fructose. - 2
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Or

Write in brief about the mutarotation of
D-glucose.
(c) Establish the cyclic structure of D-(+)-
glucose.

(d) Determine whether D-fructose is in a
furanose or a pyranose form from the
following evidences :

MeOH /HCI
D-fructose &—— >

CeH1206
dil. HCI _

Excess Me,;SO,
NaOH

KMnO,
H2804

c

dil. HNO,
=)

Oxidation

HNO, Arabinotrimethoxy glutaric a

Or

:Iov;r- wou_ld you establish that the
?n Dlguratmns of C3, C, and Cs atoms
of D-gluc

Same?g 0s¢ and D-mannose are the

(e)

D-glucose reacts v

ith HCN 1
NaHSO;. Explain. but not with

UNIT—I11
(@)
Nucleoside,
(b) Synthesi
1Z€ Uuraci
8P/397 acil from urea.
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(c)

—>B—> .

(@)

— §-lactose

ci

(a)

(b)

~

(c)
J

i
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Or

Discuss briefly the mechanism of

enzymatic action.

Explain the stereospecificity of enzyme
with the help of a suitable example.
Define coenzyme. 2+1=3

Or

Define genetic code. Write the important
structural and functional differences
between DNA and RNA. 1+2=3

Discuss briefly about the replication of
DNA. 2
UNIT—IV

Write in brief about the medicinal
importance of azadirachtin present in
neem. 2

Draw the structure of vitamin C and

write about its medicinal importance. 2
Or
Synthesize paracetamol from

p-nitrophenol.

Draw the structure of chloramphenicol
and write in brief about its clinical
properties. 1+2=3
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(6)

Or

Write down the synthesis of anti-
malarial drug chloroquine.

(d) Starting from acetanilide, write down
the synthesis of sulphanilamide.

Or

Write down the green synthesis of
ibuprofen.

UNIT—V

ey

6. (a) Explain about special isoprene ryle.

(b) In citral, one of the double bonds is at

a, B-position with reéspect to aldehydic
group. Explain.

-

(¢ How will yoy Synthesize citral from
-methyl-hept-S-en-2-one? /

(d) Write.dOWn the structure of cis- and
trans-isomer of citral. :
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